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Sunday, August 23, 2015 12:46 PM

V is a vector 14.3 units in magnitude and points at an angle of 34.8 degrees above the negative x axis.

(a) sketch this vector

(b) find Vx and Vy

(c) use Vx and Vy to obtain (again) the magnitude and directions of Vector V. 2 2 o]
NOTE: part (c) is a good way to check if you've resolved your vector correctly. C = 5 4 a

v]=143
\VI=NH 13

a) ]
V}) i V| S""“Gg—"ﬁ
3?.!.3' ' V" . .%3.
i\ X 9 CWG - P

N el

y) W= 1V oo \Iz-:IW St @
Vi= (43) G (3U.8) Wy = (14.3) Sia (3439
Vy=-11.7 \/a = 3.6
Q) V=W + v
W1 =lEn.7) 4 (8003

\V|=14.2¢ O = Aow? (‘-—;TT)




Example 2
Sunday, August 23, 2

Vector V1 is 6.6 units long and points along the negative x-axis. Vector V; is 8.5 units long and points

at an angle of 45° to the positive x axis.
(a) What are the x and y components of each vector?
(b) Determine the sum (magnitude and angle).
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Example 3
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C(C=3L0)

RX: AX-Q&X""CX

What is the R = A — 2B + C using the three
vectors seen in the figure (in terms of a magnitude

"~ and d|rect|on)?
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